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Introduction
In RAN2#101bis in Sanya, we have discussed possible ambiguities in the definition of A4 and A5 events when it comes to how the UE shall interpret the neighboring cells that can be used to trigger the event. 
=>	Offline to conclude whether the SpCell or all serving cells are not considered as the neighbour cells for Event A4 and A5. (Offline discussion #37, Ericsson)
=>	For Event A6, the frequency should be different from the frequency used by the PSCell (assuming we resolve how to determine the frequency of an MO)
Discussion on A4 event (neighbour better than threshold)
In 36.331, measurement event A4 has introduced since Release 8. One of the purposes was to detect cells on other carriers that could be candidates for load balancing. In that context, the term “neighbour” clearly refers to any cell in the frequency (i.e. in the measObject) linked to that reportConfig. Hence, any cell in frequency associated to the measObject.  With the introduction of carrier aggregation in Rel-10, the term “neighbour cell” became unclear (and remained unclear) in the case of Event A4 linked to a measObject associated to a serving frequency. 
In RAN2#101 it was proposed to clarify that e.g. by simply stating that a neighboring cell = any cell except an NR SpCell (i.e. an NR PCell or NR PSCell in EN-DC). The consequence is that if A4 is configured for a serving frequency MO, a serving cell can also trigger an A4 event, which in our view is the behavior of most of the UEs anyway in LTE.
A significant group of companies supported the proposal and, the reason this could not be easily agreed was that few companies have argued that with the clarification there is no way to exclude an SCell of A4 event. Companies are welcome to explain whether that is a real issue and why.
Discussion on A4: What issue could possibly exist if we clarify that a serving cell possibly triggers A4?
	Company
	Comments

	MediaTek
	This is change of the definition of “neighbor cell” in event A4. We would like to clarify that this is not the UE behavior in current LTE network. If we change the definition in LTE RRC, it will have backward compatible issue. We are fine if majority want to change the neighbor cell definition in NR event A4.

	Intel
	Agree with MediaTek, our understanding of neighboring cell is “NOT” any serving cells. We prefer to keep this as in LTE so we don’t create overlapping events. Network can configure A1 to achieve the same thing.

	
	

	
	


 
Summary: For event A4 in NR, no company reported any technical concern with the interpretation of neighbors as any cell except the PCell i.e. SCell could also trigger event A4.
Only one company expressed the wish to maintain the same interpretation as in LTE, although there is a different understanding what this is.
Proposal 1: SCell or PScell can trigger A4 event.

Discussion on A5 event (SpCell < threshold1 and neighbour > threshold2)
In principle, a similar issue as described in Section 2 exists for Event 5, as there could be UEs in CA scenarios with SCells on serving frequencies. In current NR specifications (as in 36.331), we have the following: 
5>	for events involving a serving cell on one frequency and neighbours on another frequency, consider the serving cell on the other frequency as a neighbouring cell;
Compared to A3, A5 event can be used to avoid a good neighbor cell to unnecessarily trigger a measurement report if the SpCell is also very good (i.e. not only rely on a relative quality, as in A3). According to the existing definition, if network configures a measObject on a non-serving frequency associated to an SCell, when the condition is fulfilled for that serving cell the A5 event is triggered. 
On the other hand, the definition of the A5 event says the following:
NOTE:	The cell(s) that triggers the event is on the frequency indicated in the associated measObjectNR which may be different from the frequency used by the NR SpCell.
As it can be seen, there is no restriction saying that the measObject cannot be in the serving frequency or in the frequency of any SpCell. In that case, measObject equals to a SpCell measObject, and cells which are not the SpCell should also be considered as neighbor. Hence, in summary, any cell that is not the SpCell is a neighboring regardless which measurement object is configured (same or different as the SpCell).   
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	Company
	Comments

	MediaTek
	Since we already have the text “for events involving a serving cell on one frequency and neighbours on another frequency, consider the serving cell on the other frequency as a neighbouring cell” both in LTE and NR, I don’t understand why we need this further change. If this change is required for event A5, why this is not required for event A3? Again, we think that we should not change the definition in LTE measurement event, and we are open for discussion on NR event.

	Intel
	Similar comment as in A4 event, we think that by changing the definition, it becomes a new event and create overlapping with other event.

	
	

	
	


 
Proposal 2: Event A5 can trigger by an SCell on the associated MO.

Summary: For event A5 in NR, only two companies responded (in addition to the rapporteur). No company reported any technical concern with the interpretation of neighbors as any cell except the PCell i.e. SCell could also trigger event A4.
These two companies expressed the wish to maintain the same interpretation as in LTE, although there is a different understanding what this is.

Conclusion
Based on the discussion we propose the following:
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Proposal 2: Event A5 can trigger by an SCell on the associated MO.


